QUIZ




Q1:- Choose the correct answer

1- Concentration of the drugs should be:

	(A)
	Above toxic

	(B)
	Under sub therapeutic dose

	(C)
	Between toxic and sub therapeutic 

	(D)
	All of the above 


2- Anesthetic gases are used through:
	(A)
	Inhalation route

	(B)
	Buccal route

	(C)
	Rectal route 

	(D)
	All of the above 


3- The number of gram of solute in 100 gm of mixture of solid is: 
	(A)
	Weight in weight percent

	(B)
	Weight in volume percent

	(C)
	Volume in volume percent

	(D)
	Non of the above


4- The oral route has the following properties:

	(A)
	Most commonly

	(B)
	Self administrated

	(C)
	Effective for most drugs 

	(D)
	All the above



5- Intracardiac means:

	(A)
	Into a joint

	(B)
	Into the heart muscle

	(C)
	Into the eye 

	(D)
	All of the above 


6- The advantage of Transdermal route is:

	(A)
	Rapid absorption

	(B)
	High blood flow

	(C)
	Sustained concentration 

	(D)
	All the above


7- Drops & solutions are example of:

	(A)
	Solid dosage forms

	(B)
	Semi-solid dosage forms

	(C)
	Liquid dosage forms

	(D)
	All the above


8- The capsule shells are made of:

	(A)
	Sorbitol

	(B)
	Rubber

	(C)
	Gelatin 

	(D)
	Non of the above


9- % W/V means:

	(A)
	No. of gm of solute in 100 g of mixture

	(B)
	No. of gm of solute in 100 ml of solution 

	(C)
	No. of gm of solute in 150 g of mixture

	(D)
	Non of the above


10- Suppositories have:

	(A)
	Local effect

	(B)
	Systemic effect

	(C)
	A and B 

	(D)
	Non of the above 


11- A.d is short cut for:

	(A)
	Of each

	(B)
	Sufficient quantity

	(C)
	Complete to 

	(D)
	All the above


12- Qid mean:

	(A)
	Twice daily

	(B)
	Four times daily 

	(C)
	Three times daily

	(D)
	All The above


13-(zinnate 125 mg p.o, Qid, 1/12) mean:

	(A)
	Take one capsule three times daily for one week

	(B)
	Take one capsule four times daily for one month

	(C)
	Take two capsule two times daily for one month

	(D)
	Take one capsule two times daily for one week


 14- The summation of (0.5 L, 300 ml &150cl) is equal:
(0.5*1000=500) (150cl*10=1500) 500+300+1500
	(A)
	2000 ml

	(B)
	2300 ml

	(C)
	2500 ml

	(D)
	8000 ml


15- What are the amount of ethanol (97%)Bp required to prepare 200ml of ethanol (50%) ?

	(A)
	100.1 ml

	(B)
	103.1 ml

	(C)
	115.1 ml

	(D)
	Non of the above


16- Meter (in the metric system) is the unit of:

	(A)
	Length

	(B)
	Weight

	(C)
	Volume

	(D)
	Non of the above


17- Compounded prescription requires:

	(A)
	Mixing of ingredients to obtain finished product

	(B)
	Not required mixing of ingredients

	(C)
	Contain drugs of schedule II

	(D)
	A & B


18- The abbreviation (bid) means:

	(A)
	Four times daily

	(B)
	Three times daily

	(C)
	Two times daily

	(D)
	Non of the above




19- One of the following is used internally:
	(A)
	Gels

	(B)
	Cream

	(C)
	Tablet

	(D)
	Ointment 


20- Soft gelatin capsule made of:

	(A)
	One piece 

	(B)
	Two piece

	(C)
	Three piece 

	(D)
	Non of the above


21- Refill prescription is a prescription filled for the:

	(A)
	First time

	(B)
	Second time

	(C)
	Not written before

	(D)
	Non of the above


22- Sorbitol is used in syrup preparation to avoid:

	(A)
	Coloring of syrup 

	(B)
	Dental decay

	(C)
	Bacterial growth

	(D)
	Non of the above


Q2:- Complete the following sentences:(10 marks)
	in vein
	pharmacology
	Three times dialy
	SC
	Twice dialy

	rectal
	mouth
	prescription
	sucrose
	sorbitol

	refill
	new
	compression
	diagnosis
	In muscle


1- Prescription is an order of medication .

2- IM means in muscle or intramuscular.
3- Enemas are introduced into the rectal.
4- Tablets are prepared by compression.
5- Diagnosis is the part of the prescription that contain patient diagnosis

6- Sub-cutaneous is abbreviated as SC.
7- The abbreviation (tid) mean three times dialy.
8- Pharmacology is the study of changes produced in living animals by the drug. 

9- Sorbitol is used to overcome the problem of dental decay of syrups

10- Prescription filled for the first time is called refill.
